Quiz for Unit 7

I. Vocabulary and structure

Directions: There are 20 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. We can’t judge a person simply on the ________ of his education.

A. theory B. principle C. condition D. basis

2. He considered that the change would be _________ to his health.

A. beneficial B. profitable C. advantageous D. favourable

3. If you get up early and run every day, you will ______ a lot from it.

A. profit B. benefit C. derive D. receive

4. The people ___________ against the government’s nuclear policy.

A. demonstrated B. proved C. displayed D. showed

5. The soldiers showed perfect _________under the fire of the enemy.

A. check B. flame C. discipline D. entrance

6. The child possessed an _________memory.

A. extravagant B. extreme C. external D. extraordinary

7. Our school has a ________of $10,000 to buy books with.

A. function B. funeral C. fundamental D. fund

8. In western countries, the young people are more independent _______ their parents.

A. from B. of C. off D. to

9. The patient’s health failed to such an extent that was put into _____ care.

A. tense B. rigid C. intensive D. tight

10. Only guests of the hotel enjoy the_________of bowling on the 9th floor.

A. favor B. possibility C. privilege D. advantage

11. In only 20 years, the country has been _________ into an advanced industrial power.

A. translated B. degraded C. declined D. transformed

12. That radio company is so big that it has a lot of ______________in foreign countries.

A. conductors B. agents C. drivers D. introduction

13. The roses are in ________ now.

A. blouse B. blood C. bloom D. blow

14. The ____________ of these stamps took ten years.

A. collection B. collective C. collector D. combination

15. What he said was too __________ for me to understand.

A. complex B. completive C. compliant D. complementary

16. The experiment is complicated and requires careful _____________.

A. look B. watch C. observance D. observation

17. The ________of currency of many Asian countries to US dollar greatly lowered in the recent financial crisis.

A. rate B. exchange C. change D. proportion

18. I’ve never ______________ the theory that people are more important than animals.

A. engaged in B. subordinated to C. paid for D. subscribed to

19. Their research ___________ on different aspects of sociology.

A. touches B. counts C. refers D. feels

20. It is said that the math teacher seems __________ towards bright students.

A. partial B. beneficial C. preferable D. Liable

II. Fill in the following blanks with correct adverbs or prepositions.

1. The little girl has bloomed __________ a woman.

2. The house consists ___________six rooms.

3. All the periodicals ________ which the library subscribes are to be ordred for a further year.

4. Come _______ person; don’t write or phone.

5. The child follows her mother ___________ all day long.

6. Sunshine and rain are beneficial __________ the crops in the field.

7. He was involved _________ a howling dancing crowd. 8. I pointed _________ that we needed more money.

9. They transformed the hotel ________ a hospital.

10. We can’t solve this problem all ________ our own.

III. Read through the following paragraph trying to get the main idea. Then, read it again to get the

details that support the main idea.

PASSAGE 1

  The trouble with failure-prevention devices is that they leave a child unequipped for life in the real world. The young need to learn that no one can be best at everything, no one can win all the time — and that it’s possible to enjoy a game even when you don’t win. A child who’s not invited to a birthday party, who doesn’t make the honor roll or the baseball team feels terrible, of course. But parents should not offer a quick consolation prize or say“, It doesn’t matter,” because it does. The youngster should be allowed to experience disappointment — and then be helped to master it.

PASSAGE 2

  Our society places so much emphasis on “making it” that we assume that any failure is bad. What we don’t always recognize is that what looks like failure may, in the long run, prove beneficial. When Vicky was able to think coolly about why she was fired, for example, she realized that she was simply not suited for a job dealing with people all the time. In her new position as a copy editor, she works independently, is happy and once again “successful.”

Key to Quiz for Unit 7

I. 1. D. 我们不能仅仅根据一个人所受的教育来判断一个人。【解析】on the basis of 以…为根据，基础；theory理论；principle 原则；condition 条件
2. A. 他以为变化有益于他的健康。【解析】beneficial 一般指对身体健康等有益，后接to his health, 因此A为正确答案；profitable一般指物质或钱财方面有利可图；advantageous 指取得优势或占先；favourable多指环境有利。
3. B. 每天早起去跑步，你会从中得到很多好处。【解析】benefit 一般指身心方面的好处，也指精神上和物质上的好处；profit 一般指金钱上的好处；derive 取得，导出，引申；receive 收到，接到。
4. A. 人们举行示威游行以反对政府的核武器政策。【解析】prove 证明；display=show 显示；后面都应该接名词或从句作宾语。
5. C. 在敌人的炮火下，那些士兵表现了良好的纪律。【解析】discipline纪律，风纪；check检查，核对；flame火焰，热情；entrance 入口，入场。
6. D. 这个孩子拥有超常的记忆力。【解析】extraordinary 指非凡的，超出一般而显得特别，有异乎寻常之意；extravagant 浪费的，奢侈的；extreme 尽头的，极端的；external 外部的，外面的。
7. D. 我们学校有1万美元作为买书的基金。【解析】fund 基金，积累的一笔专款；function功能，机能；funeral葬礼，丧葬；fundamental 基础的，根本的，重要的。
8. B. 西方国家年轻人更加不依赖父母而自立。【解析】be independent of 不受…支配的；不依赖…的。
9. C. 病人的身体如此衰弱，以至于他要受到精心照顾。【解析】tense 绷紧的，紧张的；rigid 刚硬的，刻板的，严厉的；intensive 精心的；tight 紧的，拉紧的，密封的，挤满的。
10. C. 只有本旅馆内的客人才享有在九楼打保龄球的特权。【解析】privilege 特权，特许，优惠；favor 恩惠；possibility 可能性；advantage 优点。
11. D. 只用20 年时间这个国家就变成了一个先进的工业强国。【解析】translate 翻译；degrade 贬低；decline衰退，下降。
12. B. 那家广播公司规模很大，在外国有很多代理商。【解析】conductor 指导者，管理人；driver 司机；introduction介绍人，引见人。13. C. 玫瑰花正在怒放。【解析】in bloom 开花；blouse 女衬衫，童衫；blood 血液；blow 吹气，爆炸；
14. A. 收集这些邮票花了十年的时间。【解析】collection 收集，收藏；collective 集体，集体的；collector 收集者；combination 结合，联合。
15. A. 他说的太复杂了，我不理解。【解析】complex 复杂的，错综的，难懂的；completive 起完全作用的，完成的；compliant 依从的，遵守的，屈从的；complementary 补充的，相配的，互为补充的。
16. D. 这是个复杂的实验，需要仔细观察。【解析】observation 观察；observance 遵守，奉行；
17. A. 在最近的经济危机中，很多亚洲地区的国家货币对美元汇率下跌严重。【解析】rate“比率，速率”，如the rate of profits 利润率，the rate of depreciation 贬值率；at the rate of 60 miles an hour 以每小时60 英里的速度；exchange“交换”,exchange rate 兑换率；change 改变；proportion“比例”，后面可接介词to, 但proportion 强调的是比例，而本句强调的是“比率”。
18. D. 我从来不赞同人比动物重要的理论。【解析】engage in 忙于; subordinate to 使从属于；pay for 为付帐，付出代价；subscribe to 同意，赞同。
19. A. 他们的研究涉及社会学的不同方面。【解析】touch on 表示“简略地提到，论及( 某个问题，某各方面)”；count on 指望，依靠；refer 表示“提及，涉及”时，后面接介词to; feel 后不接介词on.

20. A. 据说数学老师偏爱聪明的学生。【解析】partial“部分的， 偏袒的，偏爱的， 偏心的”; beneficial “有益的，有帮助的，有利的”; preferable “更可取的，更好的， 更合意的”; liable “有责任的，易患的，易受…影响的， 被控制的，有可能的”；例如：He’s liable to shout when he goes angry. 他生气的时候往往会喊叫。This part of town is liable to flooding. 城市的这一地区易发生旱灾。

II. 1. into。黄毛丫头已长成大人。【解析】bloom ... into 意为“发展成为”。
2. of。这幢房子由六个房间组成。【解析】consist of 意为“由…组成”。
3. to。图书馆所订期刊都将续订一年。【解析】subscribe to 意为“订购，订阅，预定”。
4. in。你自己来；别写信或打电话。【解析】in person 意为“亲自，本人”。
5. around/about。这小孩整天跟着她妈妈转。【解析】follow ... around/about 意为“跟随”。
6. to。日光和雨水有益于田间作物。【解析】be beneficial to 意为“有益于”。
7. in。他卷入了边吼边舞的一群人之中。【解析】be involved in 意为“卷入，参与，涉及”。
8. out。我指出我们需要更多的钱。【解析】point out 意为“指出”。
9. into。他们把旅馆改建成了医院。【解析】transform ... into 意为“变成，转换成”。
10. on。没有别人的帮助我们无法解决这一问题。【解析】on one’s own 意为“独自，靠自己”。

III.

Passage One

The main idea of the passage: The trouble with failure-prevention devices is that they leave a child unequipped for life in the real world.

The details supporting the main idea:

1. The young need to learn that no one can be best at everything, no one can win all the time — and that it’s possible to enjoy a game even when you don’t win.

2. A child who’s not invited to a birthday party, who doesn’t make the honor roll or the baseball team feels terrible, of course. But parents should not offer a quick consolation prize or say, “It doesn’t matter,” because it does.

3. The youngster should be allowed to experience disappointment — and then be helped to master it.

Passage Two

The main idea of the passage: Not all failures are bad.

The details supporting the main idea:

1. Our society places so much emphasis on “making it” that we assume that any failure is bad.

2. What we don’t always recognize is that what looks like failure may, in the long run, prove beneficial. 

3. When Vicky was able to think coolly about why she was fired, for example, she realized that she was simply not suited for a job dealing with people all the time.

4. In her new position as a copy editor, she works independently, is happy and once again “successful.”
